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Note : Answer all the questions as per instructions 

given. 

1. Match any five items of Column A and  

Column B :  5×1=5 

 Column A  Column B 

1. Heterocyst (a) Lycopodium 

2. Isidium (b) Sporocarp 

3. Bryopsida (c) Vallecular 

canal 

4. Coenobium (d) Cyanobacteria 

5. Club moss (e) Ectocarpus 

6. Marsilea (f) Lichen 

7. Equisetum (g) Mosses 

8. Plurilocular 

sporangia 

(h) Volvox 
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2. Choose the correct alternatives from the 

parentheses of any ten of the following 

statements : 10×1=10 

(i) Star-shaped chloroplasts are present in 

(Ulothrix / Zygonema). 

(ii) The algae belonging to 

(Dinophyta/Bacillariophyta) are called 

diatoms. 

(iii) The dominant phase of life cycle in 

bryophyte is (sporophytic/gametophytic). 

(iv) Development of sporangium in Psilotum is 

(Eusporangiate/Leptosporangiate). 

(v) The earliest group of vascular plants are 

known as (Trimerophytes/Rhyniophytes). 

(vi) In slime moulds the cell wall is 

(present/absent). 

(vii) The food conducting tubes in some mosses 

are called (Hydroids/Leptoids). 

(viii) The aggregation of fungal hyphae that 

appear like roots are called 

(rhizomorph/rhizoids). 

(ix) Cooksonia was a (land/water) plant. 

(x) Prothalli of Equisetum are generally 

(dioecious/monoecious). 

(xi) Mycorrhizal fungi grow on (leaves/roots). 
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(xii) In ferns sporangia are present on (dorsal 

side / ventral side) of the leaf-let. 

(xiii) Most of freshwater algae belong to 

division (Phaeoophyta/Chlorophyta). 

(xiv)  (Ex-situ/In-situ) conservation involves 

protection of seeds and some organisms 

be kept in cold storage for long periods. 

(xv) Land plants evolved about (300/450 million 

years) ago. 

3. (a) Identify any five of the following 

statements as True or False : 5×1=5 

 (i) Uredospores produced by Puccinia are 

dikaryotic. 

 (ii) Lichens are not capable of fixing CO2. 

 (iii) Microcystis forms water blooms in the 

sea. 

 (iv) Trabeculae are formed by the pericycle 

in the stem of Selaginella. 

 (v) Anthoceros capsule contains Elaters. 

 (vi) The organisms that derive nutrition 

by engulfing and digesting other 

prokaryotes are called saprophytes. 

 (vii) Ligules are present in Selaginella. 

 (viii)Cell walls of most fungi contain 

cellulose. 
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(b) Who proposed Telome theory ? Explain in 

brief Telome theory giving suitable 

examples. 5 

4. Write short answers for any six of the following 

questions :  6×5=30 

(i) Describe the most widely accepted 

classification of organisms. 

(ii) Draw well labelled diagram of L. S. capsule 

of Funaria. 

(iii) (a) List at least five resemblances of 

bryophytes with pteridophytes. 2.5 

 (b) Write a short note on mycorrhizal 

fungi. 2.5 

(iv) Differentiate between Uredospores and 

Teliospores. 

(v) Describe the role of bryophytes in the 

process of succession. 

(vi) Explain the mechanism of evolution by  

endosymbiosis with the help of suitable 

diagram. 

(vii) List the various methods of vegetative 

reproduction of fungi. 

(viii) What is apogamy ? List the factors which 

favour induction of apogamy. 
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5. Write detailed answers for any two of the 

following questions :  

(i) Discuss the role of bryophytes as 

indicators. 10 

(ii) (a) Name the causal organism of late 

blight of potato and give a detailed 

account of the symptoms and control 

measures of the disease. 1+2+4 

 (b) Draw a well labelled diagram of the 

above disease cycle. 3 

(iii) What is heterospory ? Discuss its biological 

significance and how it led to the 

development of seed habit. 10 

(iv) (a) Explain the significance of studying 

aerobiology of fungi. 5 

 (b) What are the advantages of using 

algae as biofertilizer ? 5 
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1. (a) 

2. (b) 

3. (c) 

4. (d) 

5. (e) 

6. (f) 

7. (g) 

8. (h) 
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10×1=10

(i) 

(ii) 

(iii) 

(iv) 

(v) 

(vi) 

(vii) 

(viii) 

(ix) 

(x) 
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(xi) 

(xii) 

(xiii) 

(xiv) 

(xv) 

(a)

5×1=5 

 (i)

 (ii) CO2 

 (iii)

 (iv)

 (v)

 (vi)
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 (vii)

 (viii) 

(b)

6×5=30

(i)

(ii) (L. S.) 

(iii) (a) 

 (b) 

(iv)

(v)

(vi)
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(vii)

(viii) 

(i)

(ii) (a)

1+2+4 

 (b) 

(iii)

(iv) (a)

 (b)
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